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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

were fraraRe R @i TR Fote® Tes f

(a) Mention one assumption of Harrod-
Domar growth model.

RF’T-wAR f{IFr Wiy (b1 wfeyEa SrEy
401

(b)) Name one neo-classical growth model.

T-_ZHe [RerT = @O =y e |
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(3)
(2)
; ; i t by fiscal policy?
() What is meant by  technological () What is meant by
B e RS g e T e

ﬁﬁ%ﬂ@%ﬂ%m%m?

(k) What is Ricardian equivalence?

Define average Propensity to consume. Ry el 52
TS (15 29Ter] %] oz

(d)

() What is meant by active monetary

(6) Who introduceq the  life-cycle policy?
hypothesis? e @ Moy & @
BRA-5 SR A SE T
{ (m) Who are the classicists?
0 _Mention One assumption of permanent FFPreRmee @ @ 7
Income hypothesis,
. : : t
M = RERIES R (n) Did Keynes believe in full employmen
R wewiet equilibrium?
fg) Rational €Xpectation model is related to @ Tr forcnst srEETers T SRR 2
Robert Hall/Friedman,
( Choose the correct answer ) (o) Name one new Keynesian economist.
q@:ﬁm%w@/maw 57 74 (2o SRS T fera
G | .
(o= Te0! AR Bereny )
(h) What is investment? 2. Answer any five from the following
£ . questions : 2x5=10
fafercasr 2 2 -
e PR R iea #iobia Tea fira
()  What is liquidity preferencep (@) What is the golden rule?
©He 2
&S 5 2 cherar Frw 2
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(b)

()

(d)

(e)

(g)

(h)

(4)

What is meant by endogenous growth?
STESS P 3o bEiEk)

IIi[entiovn two differences between
arrod-Domar model angd Solo

@’@'@‘lﬁ )
WWWQ? IE Ba Wﬁ? qeq i‘m

w model.

Why marg;
cannot ?;rgmal Propensity to consume
© greater than onen

afeF  corer
e O s qR v

expenditurep Walk of consumption
ST T oS o 9

Mention tyy
S policy targets.
Mention
classica] two differences between
e w520 thoughts
N \9 W]'q; % .
ST 3 SRUNR e 51 1L

Menti()n tWQ

m €a ;
aCroecongm; tures  of classical
mic the, ah
i

’f‘\’ﬂf\%wm
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3. Answer any four from the following
questions : 5x4=20

worq AR R e wifvorm Ses

fa) What are the two effects of investment
according to Harrod-Domar model?
Explain.

@3’s-v IR Wk wpik [fcss o ger &
2 2 90

(b) Explain Keynes’ psychological law of
consumption.

@I (S T ©geot T 41 |

() Explain the elements of endogenous
growth.

e KPR ToMPER I 4 |

(d) What are the limitations of Harrod-
Domar model? Explain.

@’T-vIR WE SaRmernz & &5 o
341 |

(e) Explain the concept of inventory

investment.

siaE REGESR 4R 01 F97 |
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(6)

() Explain the time consistency problem of
monetary policy.

a1 ST S-SR FTICET 047 3647 |

(g) Distinguish between external and
internal government debt.

ARE F AT TR AT AT {2
ol w11

(h) Explain the main features of new
classical macroeconomic thought.

T RS RN SReRR ¥ e
I < |

4. Answer any four from the following
questions : 10x4=40

O] PEERA R @I BifReR Tag fi

(@) Critically discuss the Solow model of
economic growth.

AT 9% v Wil swEn e
A 4 |

(b) Discuss Fisher’s theory of optimal inter-
temporal choice.

Fror 2T SR o wel
<47 |
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(©)

(@)

(e)

(9)

(h)

22A/1120

(7)

Discuss the Keynesian consumption
function.

RZAA (151 T LA 41 |

Critically  discuss the life-cycle
hypothesis.

GRA-5& SAFCOI STCADAN FRLCE AT
<911

Is permanent income hypothesis an
improvement over life-cycle hypothesis?
Discuss.

T T TG G5 SR OHS

F ? SCABA F47 |

Discuss the determinants of business
fixed investment.

- o R RfvcnsR ez e 4 |

What are the motives of demand for
money according to Keynes? Discuss.

@R Wo TR VAR wfeaer e
ST 4 |

Discuss the objectives of monetary
policy.
@1 NMET TP S 91 |
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(8)

()  Discuss the main features of Keynesian
thought.

PR SRR o1 (AP SICee <4 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

TR SRR T @O R
SR o ST, SCaset < |
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